" ¢ X 1/16" deep
Recess one or both sides

UiU

SHEET
| of 5

G-00.04

STANDARD HEX NUT

¢ Rod w/welded

or forged eye.

0 ¢

EYE BOLT

R Ii T - L
T7E0) )
(I S *} 1k A
s L N
/16" I 14 R—=] T
B C D L (Cengthl | R [T (Thread Length) . D
S o 5/8" Dia. RECESSED HEX NUT
15/716" | 5/16" . |As Required|7/32" As Required B c D L (Length) R |T (Thread Length)
| 7/16 (FBBOI-05) ] . . ) ] )
5/8" | 5/16 I 5716 As Required|3/16 As Required
5/8" BUTTONHEAD BOLT
(FBBOI-05) 5/8" Dia. CARRIAGE BOLT
(FBCIO-20)
| L
- ] ;
T
|<—> c —>“<—G
Bolt Size (o} D L (Length) |T (Thread Length) "
5/16" | — | —— /2" 7/8"
5/16" | — | —— B B For Bolt o c D G
/8 | = | — v e L I72” 3/8" 7/16" & 5/64"
12" — | — | 172" | 172" 1’2" 17732 1 1/16" | 3/32" =
172" | — — | 1174 L 174" l/2" HS. [17/327] | /16" | 3/32" Z
5/8" HS.| 6/16"] 7/8 Gl IS 5/8" 6~ |1 372" | o/6a"
So8ll | — | —— | 72 | 172" 3/4" 13/16" |1 15/32"] 9/64"
34 | — | —1 112 | 172 3/4" HS. |13/16"| 2" | 5/32"
3/4" | —— | —— |As Required 2" o e T 2 To/ea
3/4" HS|15/32"] | 174" 2" /2"
STANDARD HEX BOLTS STANDARD STEEL WASHERS
\ \
1o 7/8" | 7/8" 135" Base

171G

VﬁLJ L’/

FLAT PLATE WASHER

778"

/! 34

J/

778"

!/ 34

3//5/"71 |‘/

RECTANGULAR POST BOLT WASHER

(FWRO3)

3/8" ¢ hole —

|
|
|
| 1
|
1 374

SQUARE STEEL WASHER

(FWROI)

Metal Thickness

Note: drawing not to scale

GENERAL NOTES

. All covered hardware shall comply with the

AASHTO/AGC/ARTBA "A Guide to Standardized
Highway Barrier Hardware”, latest edition.
Designators given when possible in parentheses.

REVISIONS
Date Description By
3/15/99| Delete BCT Hardware KJS
1/16/17 | Added Designators LRG
12/22/17] No changes this sht. LRG

State of Alaska DOT&PF
3132 Channel Dr., Juneau, AK
Phone: (907) 465—2960

STANDARD GUARDRAIL
HARDWARE
(NUTS, BOLTS & WASHERS)

«3{‘,2;,_. CE-SOGS-._-'@“ Z o
Ben ® o
| NG

Eff. Date:
e

12722717

S
al

~

G-00.04



1 17/32"

15/716/"R

3 174"

15/16"R
RN

12 174"
+3/16"

3 3/16”

Sheet
Thickness

1716

SECTION A-A
(RWMO2a-b)

Tolera

3 174"

1 1/8"

15/16"R

3 1/4"

nce

— +3/16"

20"
+3/16"

Sheet |
Thickness

SECTION C-C
(RTMOla-02b)

13'-6 1/2"

or 26'-0 172"

5 post bolt slotted holes at 37 1/2" spacing for 13'-6 1/2" panel

9 post bolt slotted holes a

29/32" x|

Splice Bolt
@—_F Slotted Holes, typ.

3/4"x2 1/2"

t 37 1/2" spacing for 26'-0 /2" panel

|o"

178"

Post
Bolt Slot, typ.

3/4"x2 172"

12 174"

Post Bolt Slot

| <+

< | |

STANDARD W-BEAM PANEL (RWMO4a-b)

12'-5 374" or 24'-ll 3/4"

12'-1" or 24'-7"

RRRKRR

3

on

B | K

]
on

/'II/IG" Sq. Holes

6'-3" (Typ.

EH—

H

l

172"

SECTION B-B

13'-6 172"

| 5/8" 11716"x2" Slots

W-BEAM BACKUP PLATE

B —=

(RWBOla-b)

7 3/4"

| 3/4) 3 3/8" | 5/8/ I"

3/8" Thick

Steel Plate” |

4 172"

C6 x 8.2 RUB RAIL (RLROI)
ASTM A36 STEEL

or 26'-0 1/2"

2" | 4 174"

6'-3" Post Spacing

6'-3" Post Spacing

4 74" 29/32"xl 1/8"

|
|% Slotted Holes

|
=

3/4"x2 172"
Post Bolt Slot

= /|

Z—1/16"x2" Slots

11716" Sq. Holes

SPLICE PLATE (RLROI)
ASTM A36 STEEL

12"

6" 6"

<

3/4"x2 172"

Post Bolt Slot

¢

&

STANDARD THRIE BEAM PANEL (RTMOla-02b)

THRIE BEAM BACKUP PLATE

(RTBOIa-02b)

. Install back-up plates between

SHEET
2 0f 5

G-00.04

GENERAL NOTES:

All covered hardware shall comply
with the AASHTO/AGC/ARTBA "A
Guide to Standardized Highway Barrier
Hardware"”, latest edition. Designators
given when possible in parentheses.

blockouts and w-beam or thrie-beam
rail at intermediate (non-splice) posts
when steel blockouts are used but
not with wood, rubber, plastic, or
other approved blockouts.

REVISIONS

Date Description By

4/28/10] Revise general notes KJS

1716 /17 Fix dimensions in LRG

Sections A-A and C-C

12/22/17 | Std w-beam to RWMO4| LRG

State of Alaska DOT&PF
3132 Channel Dr., Juneau, AK
Phone: (907) 465—2960

STANDARD GUARDRAIL
HARDWARE

(RAILS AND SPLICES)

& ‘\‘},
Feion RN

. ....................4

;-. Lars R. Gregovich '.% 4 .
oo, CEB065 && & @
‘?’;;'--.--ﬂ\;@: o
Eff. Date: @FESS\Q“\&‘ &
12/22/17 NS

G-00.04




12 174"

——

16"

29/32" x | I/8"
Slotted Holes

 \ 7
wx

PROFILE

4 174" 4 174"

e s

< <

2 I/4"—’|

8 172" 7 172"+

W-BEAM PLAN VIEW
*Radius to be specified on the plans

STANDARD W-BEAM END SECTION
(RWEOS6)

STANDARD THRIE BEAM TERMINAL CONNECTOR

(RTEOIDb)

-
E\o - ,
S| —— — —e—— >
M Bend as necessary to match
" the surface to be attached to.
30
7 174" 22 3/4"
34 1/4" | 4 174", 4" 4n 2
<< < > T Y
< < | N
<
— ) @ o S
o
N —_—
< -
® 1)
l
|ZI"¢ holes
3/4"x2 172" post bolt
29/32"xl 1/8" slots slot (optional)
STANDARD W-BEAM TERMINAL CONNECTOR
(RWEO2)
) R R ————————,,. ,
N < < e
)
30"
7 174" 22 3/4" R
2
3 41/4" | 4 1/4" 8" 2 M
8V}
: == == N
©
S 4 ©)
© < <5
©
- — — —— O —FH| s
[
. == s
S 3/4"% holes @ IS
~ <5 <5 *
/ o
— _ —_ @ N N
/ Q/\ AU (9]
o =S "
N
" @
i f
<5 /
3/4"x2 1/2" post bolt R
slot (optional) ©
29/32"x| 1/8" slots »
1"® holes ~

Note:

G-

00.04

SHEET
3ot 5

GENERAL NOTES:

W-Beam and Thrie Beam Terminal Connectors shall
conform to AASHTO M 80, Class B, Type I

W-Beam end sections shall conform to AASHTO
M 180, Class A, Type Il

All covered hardware shall comply with the

AASHTO/AGC/ARTBA

latest edition.

"A Guide to Standardized
Highway Barrier Hardware”,

Designators given when possible in parentheses.

Drawing not to scale

REVISIONS
Date Description By
3/15/99| Delete Thrie end sect. KJS
1/16/17 | Holes added to Thrie LRG
12/22/17] No changes this sht. LRG

Eff. Date:
12722717

State of Alaska DOT&PF
Phone: (907) 485—2960

th 4

;- Lars R. Gregovich g s ;
<2»/ CE-8065 .{g Z o
conoe® ’ .
\\‘” AROHSS \QW $
\\\

3132 Channel Dr., Juneau, AK

STANDARD GUARDRAIL
HARDWARE
(TERMINAL CONNECTORS)

\\\\\\‘
":Vi\%”.”“' 4}8}—‘."

G—-00.04



e

| a2
| (Typ.) [1Typ.

=~ /72"

I/4"R (Typ.)//‘/

s e o

/16" @ Hole
(8 Places)

CABLE ANCHOR PLATE

SHEET
4 of B

G-00.04

GENERAL NOTES:

Cable Anchor Plate may be formed in single unit
or welded fabrication.

Anchor Cable Assembly must conform to AASHTO
M 30 with Type Il Wire Rope.

Provide Sleeve for Wood Posts meeting the
requirements of ASTM A53 and made of

2-inch galvanized standard pipe. Sleeve shall be
a tight, pressed fit in post.

Attach radius ID plates to all shop-bent guardrail
sections. Bolt the ID plates to the

back side of the quardrail panel with the lower
splice bolt nearest the P.C. of the radius.

(FPAOI) Show the I:'\’ail bend radius: lin feet, as "XX"
BEARING PLATE for CRT TERMINAL ANCHOR on the radius ID pIuTe.l DlglflS shall be e'f'ched or
stamped and have a min. height of | 1/2" and a
(FPBOI| 2" &+ 3/16" I.D. | 1/8" ¢ max. width of 3/4". Galvanize the plate after
2 3/8" + 3/16" 0.D. " the digits are marked.
72" —= /16”9 Hole
— All covered hardware shall comply with the
AASHTO/AGC/ARTBA "A Guide to Standardized
_ N [ Either full penetration Highway Barrier Hardware”, latest edition.
““|||||||||||||||||||||| = =77 % weld or bend to fit. Designators given when possible in parentheses.
& = .
h 1 @
I"6x7" (Typ.) 3/4" Wire Rope & 7—6—<Typ.)
yp E ] 174
INNNONDN 0L - =1/ —
SLEEVE DETAIL YT \(/
(FMMO2) >
SWAGED FITTING DETAIL SECTION A-A 6
(FCAOI-02)
CONTROLLED RELEASE TERMINAL HARDWARE DETAILS
Note: Drawing not to scale
REVISIONS
Date Description By
3/15/99| Delete BCT Hardware KJS
1/16 /17 |Change ASTM in Note 3| LRG
5" 12/22/17] No changes this_sht. LRG
" 374" ¢ hole
3/4

- See Note 5.

State of Alaska DOT&PF
3132 Channel Dr., Juneau, AK
Phone: (907) 465-2960

3/4"

L Y

Guardrail Reflector Table

e

i | | Color Reflectorized
4 B [ | White Front 8 Rear
74" Thk. |<—>|‘—’| White Front
Steel Plate | I/8" | 1/8 Yellow Front

RADIUS 1.D. PLATE Yellow Front & Rear

RADIUS |.D. PLATE MOUNTING DETAIL

GUARDRAIL REFLECTOR

STANDARD GUARDRAIL
HARDWARE
(MISCELLANEOUS)

S
.’&i{ﬁj‘ﬁ&i\:\?}r‘%
7 v 4oL .":.7*'

%, LarsR. Gregovich v
X . o5
O. ‘2('!,2:.‘ CEB065 _oo% ; .

Teeee .".. W .
Eff. Date: \ﬁ"\f’ﬁoﬁssw&\sjr‘:d}'
12/22/17 NS

G-00.04



— 4
Retroreflective
T Sheeting
P
12" !

2
\Gulv. screws with

| —

/\

_/ See notes.

Guardrail

I
Ly, 1

GUARDRAIL FLEXIBLE DELINEATOR DETAIL

galv. washers, typ.

(Steel post shown - similar for wood post)

Note: Drawing not fo scale

G-00.04

SHEET
505

CONSTRUCTION NOTES

Install guardrail flexible delineators where shown on the plans.

Install guardrail flexible delineators at 50 foot spacing, unless
otherwise noted on the plans. Install not less than 2
delineators per guardrail run.

Use 3" x 5" white/yellow/red retroreflective sheeting as
required per Standard Drawing T-O5. Install retroreflective
sheeting on both sides of delineator on two-way roads.

Attach 4" x I2" flexible delineators to the top of new
guardrail posts, on the trailing side of the posts relative to
the adjacent lane's direction of travel.

Predrill or preform 5/16” diameter mounting holes in steel
posts by the manufacturer prior to galvanizing. Predrilling or
preforming holes not required for wood posts.

Use 2 each 1/4" dia. x I-1/2" long galvanized lag screws for
attaching to wood posts and 2 each 1/4" dia. x 3/4" long
galvanized self-drilling fasteners for steel posts. Install a
galvanized washer between the fastener head and the flexible
delineator.

REVISIONS

Date Description

By

12/22/17| New_ Shi. 5 added

LRG

HARDWARE

.s‘ﬁ h\\\\

ST oLAL
A R

%@. CE8065 o",

W
Eff. Date: v
12/22/17 =

O
....”...\\\\ 4

L

State of Alaska DOT&PF
3132 Channel Dr., Juneau, AK
Phone: (907) 465—2960

STANDARD GUARDRAIL

(FLEXIBLE DELINEATORS)

@
S .

0 ARoFESSION o
FESS ‘sg &

G-00.04



rl,, Guqrdrail—\

6" x 8" x 14" Blockout
/ [See Const. Note 6)

W6x9 Steel Post
[See Const. Note 4

<

for length)
29" & |"
Finish Grade
7N
In
In
In
Normal edge non
of pavement non
In
u_u
TYPE | POST INSTALLATION
GUARDRAIL
REFLECTOR
(See Construction Notes | 8 9)
6" x 8" x 14" Blockouts
(See note ©)
5/8"¢x25" Button Head
Face of Bolt with Washer 8 Hex

Guardrail, Typ.

Nut. Cut off excess bolt
flush with nut.

" "5
> —_—
29" & I 2 29" & I
Finished
Grude_\
77ANNN
I n
I 6' W6x9 Steel Post
1
I n
I n
I n
I n
o
TR
TYPE IV DOUBLE SIDED INSTALLATION

6"

Guurdroil—\

6" x 8" x 14" Blockout
|[See Const. Note 6)

f,

rl,.
< W6x9 Steel Post
(See Const. Note 4
29" & | for length)
Finish Grade _
7N
I n
I n
I n
Normal edge TRl
of pavement nou
I n
u_u
TYPE Il POST INSTALLATION
(Facilitates raising rail for
future overlays.)
Standard
W-Beam
5/8" ¢ Guardrail

x 8"

Button Head Bolt

x 14" Blockout
(See Note 6)

5/8" Steel Washer

5/8" ¢ Hex Nut

W6x9
Steel

ASSEMBLY DETAIL

(T

ype | post shown)

7

Post

I

6" x 8" x 14" Blockout
(See Const. Note 6)

{ a Guardrail
W6x9 Steel Post
-<*— (See Const. Note 4
for length)
29" £ |
See Design
Note 2
/ no 2
1] 1
I
1 1
non 3.
1 1
Ll_” 4.
CURB DETAIL
TYPE Il POST INSTALLATION 5.
6.
7.
ToP 8.
T T1T T1T 4" 9
1 11 —
11 1 —_
11 11
© 11 {1 H
11 {1 g 10
[ 1,1 " .
NN 3f8 ©
1L 11 11 = f —
4 174" P I
7/8"—] - 7/8" '8
|
I 1/8" |
T I
" 2.
[
= [y
~ I
1
1
: A 1
& Y ||$’
1
1
1
1
1
1
A Il
| 7/8" | 7/8" I3/16" ¢ holes (Typ.)
6"
BACK FACE
6" x 8" W6 x9

WOOD BLOCK

STEEL POST

SHEET

G-04.125 | .

CONSTRUCTION NOTES:

Install guardrail reflectors beginning mid-span
between the first and second posts. Install reflectors
every 25 on tangents and every 12.5' on curves
starting 100’ before the P.C. and ending 100’ after
the P.T. Use Type A reflectors unless specified
otherwise.

Provide hardware compliant with the
AASHTO/AGC/ARTBA “A Guide to Standardized
Highway Barrier Hardware,” latest edition.

See Std. Dwg G-00 for hardware details.

See Standard Drawing G-10 for post lengths
corresponding to different combinations of slope and
behind-post embankment width.

Typ. post spacing is 6'-3" center to center.

Use wood, synthetic or other NCHRP 350 or MASH
eligible blockouts designed for use with steel posts.
Use either bolt hole for attaching blockout to post.

Use 25 linear foot transition to match differing
height of existing or new rail elements and end
treatments.

W6x8.5 steel post may be substituted for W6x9
steel post.

Attach gquardrail reflector to gquardrail at mid-span at
available slotted holes using a 5/8" button head
bolt with 5/8" recessed head hex nut and steel
washer.

Install flexible delineators on quardrail posts when

called for in the contract. See Std. Dwg. G-OO0 for
qguardrail post flexible delineator details.

DESIGN NOTES:

This barrier is acceptable under NCHRP 350 TL-3.
Refer to the 20l RDG Section 5.6.2.I1 for guidance

on limitations for curb heights at different design
speeds.

REVISIONS
Date Description By
3/15/99 Block and post length KJS
4/1/13 Add double-sided detail JcJ
and increase g.r. height
12722717 Change reflector attach- LRG
ment location 8 spacing

State of Alaska
Department of Transportation
& Public Facilities

STEEL POST
W-BEAM GUARDRAIL
oéo\\

AR
Zu 100 P wly
(]

&
LA A S S T
v

%, LarsR. Gregovich _-'Q_

$%, CE-8065 &
Gy 2eq -"@’ v
Eff. Date: Peyesesestt O
‘\\\‘F’ROrESS\G“ N o

12722717 \ NS g

G—-04.12S



6" x 8" x I4” Blockout . . .,
1" (See Construction Note 7) 6" x 8" x 14" Blockout
r (See Construction Note 7)

4 /— 3/4" Dia. Hole "
Guardrail 1 *

3/4" ¢ holes (Typ.)

"

6" x 8" x 14" Blockout

{ (See Construction Note 7)

E-r=o ::[2
B N | 6"x8" wood post. . P= =4 -
29" ¢ | See Construction Guardrail ==j2_
/_Nofe 4 for length.
N " 6"x8" wood post.
Finished Grade 29" ¢ | /—See Construction
7773\ Note 4 for length.
|
| | Finished Grade
I U
| | |
Normal edge | : | |
of pavement | | I I
: : Normal edge : :
L of pavement | |
—_
TYPE Il POST INSTALLATION
TYPE | POST INSTALLATION
[Facilitates raising rail for
future overlays.)
GUARDRAIL
REFLECTOR
(See Construction Notes | & 6]
6" x 8" x 14" Blockouts @ ///
(See Construction Note 7) 4 o
~(({{( /,//
5/8"$x25" Button Head Bolt A A
with Washer 8 Hex Nut. Cut g d
off excess bolt flush with nut. o
Face of Guardrail, Typ.—=| g
1" 1" o )
i i 7 /
/’//
/’///
L L c~
Finished g
Grade §y
7773 ‘
6" x 8" Wood Post, /‘
6' Long _—\ \ p

6" x 8 x I4" Blockout

/// (See Construction Note 7)
L
6" x 8" Wood
Standard

TYPE IV DOUBLE SIDED INSTALLATION W-Beam

Guardrail

Post

H+

Guardrail ==
6"x8" wood post.
[+— See Construction
See Design Note 4 for length.
Note 2

/—3/4" Dia. Hole

)

:

N

I

L—4d

CURB DETAIL

TYPE Il POST INSTALLATION

16d galv. nail toe-nailed to

each per blockout

5/8" Steel Washer

5/8" ¢ Recessed
Hex Nut

ASSEMBLY DETAIL

(Type | post shown)

| prevent blockout rotation. One

SHEET

G-04.12W | /.,

CONSTRUCTION NOTES:

Install gquardrail reflectors beginning mid-span between
the first and second posts. Install reflectors every
25' on tangents and every 12.5' on curves starting
100" before the P.C. and ending 1009’ after the
P.T. Use Type A reflectors unless specified
otherwise.

Provide hardware compliant with the
AASHTO/AGC/ARTBA "A Guide to Standardized
Highway Barrier Hardware,” latest edition.

See Std. Dwg. G-OO for hardware details.

See Standard Drawing G-10 for post lengths
corresponding to different combinations of slope and
behind-post embankment width.

Typical post spacing is 6'-3" center to center.

Attach gquardrail reflector to guardrail mid-span at
available slotted holes using a 5/8" button head bolt
with 5/8" recessed head hex nut and steel washer.

Use wood, synthetic or other NCHRP 350 or MASH
eligible blockouts designed for use with wood posts.

Use 25 linear foot transition to match differing
height of existing or new rail elements and end
treatments.

Install flexible delineators on guardrail posts when
called for in the contract. See Std. Dwg. G-00 for
guardrail post flexible delineator details.

DESIGN NOTES:
This barrier is acceptable under NCHRP 350 TL-3.

Refer to the 20Ill RDG Section 5.6.2.l.1 for guidance
on limitations for curb heights at different design
speeds.

REVISIONS
Date Description By
1/1/96 |Del. hardware/ add type |l Gdo
3/15/99 |Post lenath and misc Gdo
4/1/13 |Double-sided detail and JCJ

Increase g.r. height

12722717 Change reflector attachment| LRG

location & spacing.

State of Alaska
Department of Transportation
& Public Facilities

WOOD POST
W-BEAM GUARDRAIL

'-_ Lars R. Gregovich 5. ; v

Of%?- CE8085 2 o
%, O
Eff. Date: '\ﬁ@z;ssm\if o
12/22/17 oSS

G—-04.12W



6” x 8" x 14" Blockout
(See Const. Note 6)
I"—*

31"+

W6x9 Steel Post.
le—— (See Note 3
for length)

W-Beam
Guardrail

a8
AN
) /' non
Finshed grade T

under face of T

6" x 8" x 14" Blockout
(See Const. Note 6)

r-j 4,

W6x9 Steel Post.
le—— (See Note 3
for length)

W-Beam
Guardrail

3" g |

&

AN
) /' non
Finshed grade T

under face of TREET!

guordroil " " guurdroil " "
I I
I I
u_u u_u
TYPE | POST INSTALLATION TYPE I POST INSTALLATION
(Facilitates raising rail for
future overlays.)
W3l GUARDRAIL
3 - 112" 6 - 3" 6 - 3" 6 - 3
31"+ " Mid-Span
l Splice
NI i il | L
Finished Grade Permissible quardrail
reflector locations
TYPICAL ELEVATION (must be mid-span)
5/8" ¢
Button Head
5/8"¢ 25" Button Head Bolt
Bolt with Washer &
6" x 8" x 14" Recessed Hex Nut. Cut off @
Blockouts. (See excess bolt flush with nut.

Const. Note 6)

Finism’(ir::A_’

TYPE

IV DOUBLE SIDED

"3

31" & 1"

no GUARDRAIL

6' W6x9
ot Steel Post

INSTALLATION

REFLECTOR
(See Const. Note 5)

\

6" x 8" x 14"
Blockout d
(See Const. Note 6]

5/8" Steel Washer

5/8" ¢ Recessed Hex Nut

W6x9 Steel Post /*\I}\

ASSEMBLY DETAIL

(Type | post shown)

Standard

Guardrail

>

12 172" Total
Joint Overlap

el

\ 3.
5/8"¢ Button

BLOCKOUT

S =] Head Bolt
—_— witn Wosher
8 Recessed 4.
Hex
/ Nut, typ. 8 5.
total per
splice
SPLICE DETAIL
, SPLICE
(At mid span between posts only.
Bolts not shown for clarity) CROSS-SECTION 6
7.
TOP 8.
T T1T T1T 4"
AT —— 9.
1|1 1|1
g et
W-Beam e ih 5 7/8"
III III 3/8"
11 11 ‘
1 _,I L L II_ [} [ R
—= l———| /8" '
N 4 /4" N |
7/8" —— ~— 7/8 . | /8" 5
T T '
Il
11
[
e Il
Il
Il
N 11
o | [& & | —— [
Il
Il
Il
11
Il
| ¥
1 A
| 7/8" - | 7/8" 13/16" ¢ holes (Typ.)
BACK FACE
/ﬂ/ 6" x 8" W6x9

STEEL POST

SHEET

G'O5OOS | of |

CONSTRUCTION NOTES:

Provide hardware compliant with the
AASHTO/AGC/ARTBA "A Guide to Standardized
Highway Barrier Hardware,” latest edition.

See Std. Dwg. G-OO0 for hardware details not shown
on this drawing.

See Standard Drawing G-IO for post lengths
corresponding to different combinations of slope and
behind-post embankment width.

Typical post spacing is 6'-3" center to center.

Attach quardrail reflector to gquardrail using a 5/8"
button head bolt with 5/8" recessed head hex nut
and steel washer at location shown in the Typical
Elevation. Install reflectors every 25 on tangents
and every 12.5° on curves starting 100’ before the
P.C. and ending |00’ after the P.T.

Use wood or synthetic blockouts designed, tested,
and passed per MASH for use with steel posts.
Either bolt hole on the blockout may be used for
attachment.

Use a 25 linear foot transition to match differing
height of existing or new rail elements and end
treatments - see Std. Dwg. G-Il

W6x8.5 steel post may be substituted for Wex9
steel post.

Install flexible delineators on gquardrail posts when
called for in the contract. See Std. Dwg. G-0O
for quardrail flexible delineator details.

DESIGN NOTES:

No fixed objects allowed within 36" of the back
side of quardrail post.

This barrier is acceptable under MASH Tests
3-10 and 3-Il.

REVISIONS

Date Description By

State of Alaska DOT&PF
3132 Channel Dr., Juneau, AK
Phone: (907) 465-2980

STEEL POST
W31 GUARDRAIL

SN\

g O..T.Al\\\\
A dfi:‘}‘o'
2% 494 K ],
Gopremiresaseriensinnd

o Lars R. Gregovich . ¥4 S
2% o
'0.‘%;;_.. casoesﬂ_.g&; v
QAT -
O .
Eff. Date: NS

12722717

G—-05.00S



6" x 8" x 14" Blockout
(See Const. Note 6)

"5

16d anti-rotation

/_ nail, typ.

31"

I+

W-Beam

A/

for length)

a

T7RS
Finshed grade /'

under face of

guardrail

TYPE | POST INSTALLATION

/— 3/4" Dia. Hole, typ.

Guardrail 6" x 8" Wood Post
(See Const. Note 3

6" x 8" x 14" Blockout
(See Const. Note 6) 3/4" & holes (Typ.)
"
IEEX
W-Beam
Guardrail 6" x 8" Wood Post
31" x| (See Const. Note 3
/_for length) 12 172" Total
Joint Overlap
A

Finshed grade /

under

guardrail

W3l GUARDRAIL

face of

Lo ___

L

TYPE Il POST |

7778\ .‘ 8 I/2" }‘
\ 5/8"¢ Button

Head Bolt with
Washer 8
Recessed Hex
Nut, typ. 8

/ total per.'

splice.

NSTALLATION

(Facilitates raising rail for

future overlays.) SPLICE DETAIL SPLICE CROSS-SECTION

(At mid-span between posts only.
Bolts not shown for clarity.)

3 -1 6 - 3

6 - 3"

|

e | Mid-Span

Splice

Finisr:c::A’

6" x 8" Wood
Post,

TYPE

\— Finished Grade

TYPICAL ELEVATION

6" x 8" x 14"
Blockout, typ. (See

16d galv. nail toe-nailed to

Const. Note 6) prevent blockout rotation. One
each per blockout

\ /-

3. |

Grade Point

6' Long

5/8"¢ x 25" Button Head
Bolt with Washer 8 Recessed
Hex Nut. Cut off excess bolt
flush with nut.

Permissible guardrail v/

reflector locations
(must be mid-span)

GUARDRAIL
REFLECTOR

(See Note 5)

IV DOUBLE SIDED INSTALLATION

5/8" ¢
Button Head
Bolt

&

&,,,(@

NN

6" x 8" x 14"
Blockout (see

Const. Note 6) /\/

Standard 6” x 8" Wood Post
W-Beam

Guardrail ASSEMBLY DETA”_
(Type | post shown)

| — prevent blockout rotation.
One each per blockout

5/8" Steel Washer

G-05.00W|".,

CONSTRUCTION NOTES:

Provide hardware compliant with the
AASHTO/AGC/ARTBA "A Guide to
Standardized Highway Barrier Hardware,”
latest edition.

See Std. Dwg. G-OO0 for hardware details.

See Std. Dwg. G-IO for post lengths
corresponding to different combinations of
slope and behind-post embankment width.

Typical post spacing is 6°-3" center to
center.

Attach quardrail reflector using a 5/8"
button head bolt with 5/8" recessed head
hex nut and steel washer at the location
shown on the Typical Elevation. Install
reflectors every 25 on tangents and
every 12.5' on curves starting 100’ before
the P.C. and ending 100’ after the P.T.

Use wood blockouts designed, tested, and
passed per MASH fo be used with wood
posts.

Use 25 linear foot ftransition panel to
match differing height of existing or new
rail elements and end treatments. See
Std. Dwg. G-Il

Install flexible delineators on gquardrail
posts when called for in the contract. See
Std. Dwg. G-OO for guardrail flexible
delineator details.

DESIGN NOTES:

No fixed objects allowed within 36"
of the back side of quardrail post.

This barrier is acceptable under
MASH tests 3-10 and 3-Il.

16d galv. nail toe-nailed to REVISIONS

Date Description By

State of Alaska DOT&PF
3132 Channel Dr., Juneau, AK
Phone: (907) 465—2960

STEEL POST

5/8" ¢ Recessed W31 GUARDRAIL
Hex Nut

SANA Y
S0 Al\ﬂ‘g}_\g

:V';\....ooouo.
2100 TR Tl

A
. ...................4

.......‘.......‘ seee

o Lars R. Gregovich

'0 %, CE-8065 e
) l.

\“\\
fg}’ .
A
20,

%

W, e
Eff. Date: ‘\\\*”’“{E\ﬁ.p &
12/22/17

G-05.00W



G-10.10 | =

| 2.0' - 3.5

s 2.0' Min.
3.5 M|n.* 25 - 4_0,* | ——
4.0' Min. 2.5' Min:

é < é CONSTRUCTION NOTES:
I.  This drawings is to be used for post length

determination only. See Plans for slopes
(W3l 3" s 1 (W3I) 3" s 1 (W3) and behind-post embankment widths.
' (W-Beam) 29" + |I" (W-Beam) 29" + I" (W-Beam)

2. To determine post length, identify the case
that matches site conditions and read the
length corresponding to the pertinent

N, .
L %/6‘,@@ 0 %/@,% o ;7;:/6% guardrail type.
0, e,
e,«s:s,/ &/@o@f/ 2 3. These dimensions apply to both curbed and

(. W3l and 26, %, ([ %, %, (. uncurbed section.
(I W-Beam: 6'-0" ]60,,@7 ([ W3l and /40,7@-/ ([ W3l and )

4 W-Beam: 8'-0" 4 W-Beam: 8'-0". 4. Case |, 2 and 3 are shown with steel posts.
JI-/I/—"- Wood Post JL/l/_lL - ‘lL/‘IL Wood posts may be substituted when allowed

Thrie Beam: 7'-0" Modified and Wood Post

Wood Post by specifications. Wood Post Thrie Beam

/| Modified Thrie Beam: 7'-0" /| Thrie Beam: 9'-0" W Thrie Beam: 7'-0". installations must use wood posts only.

Modified Thrie Beam: 7'-0"
Il (. |- 5. Case 4 and 5 apply to W3l gquardrail only.

* with Modified Thrie Beam DESIGN NOTES:

CASE | CASE 2 CASE 3 I.  No fixed objects allowed within 36" of the
- - - e — e —— back of post for Cases I, 2 & 3.

2. No fixed objects allowed within 48" of the
back of post for Cases 4 & 5.

31"z I"

3" e "

L = 9'-0" steel post
L = 7'-6" wood post

VANAN

" REVISIONS
" Date Description By
I

| State of Alaska DOT&PF
3132 Channel Dr., Juneau, AK
I Phone: (907) 485—2960

I BEAM GUARDRAIL
POST INSTALLATION

(T R A
CASE 4 CASE S % .
e — ' .. ~
—_ (See Note 9) ".?%;‘., CE-8065 ..’{@‘9
See Note 5 RN Or 8
(See Note 9 Eff. Date: “\\\"("{E\iiﬁs" $

12722717

G-10.10




Existing W-Beam Guardrail

_ Connect to existing
W-Beam Guardrail

W3l Guardrail Pay Limit

Match existing height.
Not less than 26 %" or
more than 30"

3 I-l72"

Typical W3l Guardrail. See
Std. Dwgs G-O5S and G-O5W

T \ T
l On-post l

Splice, typ.

W3l

25 Height Transition

TO W-BEAM TRANSITION

3" 1-l/2"—

G-11.00 |/.

GENERAL NOTES:

This drawing illustrates steel post W3l
quardrail. Wood posts may be substituted
when allowed by specification.

REVISIONS

Date Description By

State of Alaska
Department of Transportation
& Public Facilities

W31 Guardrail

Transition Details
SN
T LA

\
i /\?; .'c'z,—y

Eff. Date:
12722/17

G—-11.00



Connect to W3l

3 TH" | 63 31k Guardrail system
W-Beam End Section
w/ bolt holes for anchor
Anchor Bracket
bracket (RWMI4a) (FPAOI) ‘\
\\o © | E— | \ I I [=] S |
o o I
| } [<o-] (') :
A ) S [=] |
: o o o [=) I
Breakaway __— BCT Cable Anchor Breakaway
3/ " Wood Post = — I~ Assembly [FCAOI) Wood Post
| \ 2 ea. 16d galv. 5 /2"
/ /—Ground Strut anti-rotation nails, - Breakaway
—iEC T bent over plate
( Ieni : = /L /_Wood Post
\ ’ Ground G d BCT Plpe
roun Sleeve [FMMO2
See Detail | _/\LJ’ strut bolt I strut bolt ! )
Anchor
L_JP _JF 5 Plate BCT Cable Anchor
- Ground strut must be in - (FPBOI) / Assembly (FCAOI
Foundati | | direct contact with the | |
oundation ground surface. - _
tube bolt, typ. | | || LTI e —
| | | | = 2" typ.
| | | | f 3" max.
|| || Finished grade — | |
| I-— Foundation tube —-—I | |
| || _/ | | \ %" Dia. Ground
| | | | Foundation tube | | Strut Bolt hole
(Ground strut not shown for clarity)
ELEVATION
|l 2 0
min.
W-Beam
Rail
==
—= A
32"
Breakaway Wood Post Anchor Bracket
(FPAOI) 46" Breakaway
BCT Anchor Cable Wood Post
W-Beam Rail, typ a [FCAOQI)
1 Breakaway Anchor Cable Bearing
\ i [~ Wood Post | o Plate (FPBOI
— E——— | [ |
W-Beam end section |4" ||
(RWEO3a) > A I_
. Foundqhon/l/@ |-— Foundation tube
6 3 tube bolt \I\\L
PLAN VIEW \l\

[

SECTION A—A

SHEET
| of 2

G-14.00

CONSTRUCTION NOTES

All covered hardware must comply with the
AASHTO/AGC/ARTBA "A Guide to Standardized Highway
Barrier Hardware”, latest edition. Designators are given in
parenthesis, when possible.

End section bolts and nuts have the same material
requirements as splice bolts.

Foundation tube bolts are are 7/8" diameter ASTM A307
hex head. Foundation tube bolts require an ASTM A563 A
nut and two ASTM F844 7/8" diameter flat washers.
Install one washer under bolt head and one under nut.

Anchor bracket and strut bolts are are 5/8" diameter
ASTM A307 hex head. Foundation tube bolts require ASTM
A563 A nut and two ASTM F844 7/8" diameter flat
washers. Install one washer under bolt head and one under
nut.

DESIGN NOTES

This design in not crashworthy under MASH and is not
intended for locations within the clear zone or where it is
likely to be struck head-on by an errant vehicle.

This end anchorage is typically used on the downstream
end of gquardrail runs on one-way roads.

REVISIONS

Date Description By

State of Alaska DOT&PF
3132 Channel Dr., Juneau, AK
Phone: (907) 465—2960

W31 DOWNSTREAM
END ANCHOR

% Lars R. Gregovich
‘.\@ CE-8065 ..@
“ﬁmssm“ & &
Eff. Date: i
12722717

G—14.00



G-14.00 |

7-172"
- /—TS 8x6x0.1875
5-1/2" —| —
6" PLAN VIEW CONSTRUCTION NOTES
PLAN VIEW . All covered hardware must comply with the
5-1/2" —=— o — T7-1/2" f=— AASHTO/AGC/ARTBA "A Guide to Standardized Highway
6" 8 . Barrier Hardware”, latest edition. Designators are given in
., P . 2-3/4"—— 3-3/4"—— = parenthesis, when possible.
3" ——] -——_r'
\ ! T \ 3/4" DIA.
‘ \d 3/4" Dia ‘ ‘ e ‘ /_
| | . w | ‘ C// = o= )
‘ ‘ 17 ‘ ‘ ’—i 8-1/8 *‘
‘ ‘ ‘ ‘ 28-1/72" ’
‘ ‘ | ‘ 23-7/8" "
L | N - 5-1/2 ‘
] | "o 46" !
‘ ‘ ‘ ‘ — 2-172" DIA. J \ 5/16" R, typ.
‘ ‘ ‘ ‘ — — 3/16"
\ \ \ \ —ol = — al/ar 2" x 7/8" DIA.
. B Slotted Hole
72" ‘ ‘ ‘ ‘ \ 7/8" Dia. L |__ _L /_
| ] T = DL
\ \ \ \ 172" ~— /2" R.
‘ ‘ ‘ ‘ =—28-1/8" — T"‘T’ _E I-172"
| | | |
\ \ \ \
o | | FRONT VIEW SIDE VIEW YOKE DETAIL
| | | |
\ \ \ \ BREAKAWAY WOOD POST
\ \ \ \
} } } } 3/16" Strut 3/16"
|| | — | / ~—
Yoke
/ |
FRONT VIEW SIDE VIEW - | —
REVISIONS
FOUNDAT|ON TUBE PLAN VIEW Date Description By
6" 3" 10 Ga.
/2" R. [ Sxfruf ‘ Yoke
(Typ.) _L //_
= o s ke TSR
j— Phone: (907) 465-2960
3"
GROUND STRUT SECTION W31 DOWNSTREAM
6'-3" END ANCHOR
BES AN\
6'-6" i?z\‘)\fA\L\}}‘\Q
7 on Fe T
Zx TN vy
FRONT VIEW %‘ﬁ'«v‘lﬂ-\c\?\«
% LarsR Gregovich &, 2 &
0,;%";;:_ e §§§W

GROUND STRUT DETAIL Bt Dabe: ‘\i@\ﬁo{@ﬁ? S
12/22/17

G—14.00




APPROACH ROAD OR DRIVEWAY

Mqtch
MAIN HIGHWAY Line

“IN-LINE ANCHOR"
(See Sheet 2 of 3)

Wood CRT

See Transition
Detail below

71/2" ] e

(See Data Table)

24"

l 2 ,

5-172"

%" Button head
bolt w/ nut but
no washer on

| front. (See Note |

3/4" ¢ Hole

% for exception)

1
' Finished grade

See Plans
For Slope

6" X 8" X 6'- 0"

wood post

CONTROLLED RELEASE TERMINAL (CRT) POST

L (See Data Table)

|
I
X
Clear Area

T~~~
- \

/ \ "TERMINAL ANCHOR"

—— (See Sheet 2 of 3)
\ )
V

AN /

\__/

SHORT RADIUS GUARDRAIL PLAN

DATA TABLE ¥

Curve Radius, | Curve | Number of Clear Area l\?:*of

Ft. (Rounded) | Length |Rail Sections [ cnoin (L) Twidth (W)| Posts
8’ 12.50" 1.0 25 15 5
> 18.75' 5 25 15 6
16’ 25.00° 2.0 30 15 7
20’ 31.25' 2.5 33 15 8
24 37.50" 3.0 37 20 9
28’ 4375 35 40 20 10
32 50.00' 4.0 45 20 L
36 56.05" %45 50 20 12

*The table applies only to 90° approaches or driveways.

* 36 feet is the maximum allowable radius for this system.

alealeNumber of CRT posts includes one for the In-Line Anchor.

Match
Line
W3l | Transition W3I. Short
i Radius
Guardrail | Rads |
6 - 3" 6 - 3" 3 I-ls2"

Finished Mid-S )
Grude_\ Splicepqn 3l lt !
=g ' ' =%
TRANSITION TO W3l GUARDRAIL - TYPE |
(As viewed from Main Highway)
(See Construction Note 2)

Match

Line
W3l Transition ;vz’dliuiho”

) a
Guardrail Guardrail
3 I-172" 6' - 3"

3 |

Mid-Span
Splice

Finished

Grqde_\

TRANSITION TO W3l

GUARDRAIL TYPE

(As viewed from Main Highway)

(See Construction Note 2)

SHEET

G-26.00 | ..

CONSTRUCTION NOTES:

Do not bolt rail to central post on 8' radius CRT.

Steel posts are shown in the transition. Wood post may
be substituted when allowed by the Specifications.

DESIGN NOTES:

Use the W3l short radius quardrail system to shield hazards
at the intersection of a main highway with a minor road or
driveway. Typical application include interruptions in quardrail
runs caused by intersecting roadways

The short radius quardrail Terminal Anchor shown is for
use on low speed (<45 mph) approach roads or driveways
where motorists are required to stop or yield. Do not use
this Terminal Anchor for high speed approach roads or
driveways when a MASH approved end treatment is
required.

The Clear Area shall be free of fixed object hazards. Any
signs or other highway appurtenances in the clear area
must be mounted on MASH compliant breakaway supports.

Connections to other gquardrail systems [e.g. bridge rails and
end treatments) and not provided on this drawing. Other
details may be needed for this.

Short Radius Guardrail on 60 to 90 degree approaches are
allowed provided they are constructed with posts at the
P.C. and P.T. and the posts are placed on a uniform 6'-3"
spacing.

When Short Radius Guardrail transitions to guardrail not at
31" + |" top-of-rail height, fransition height over a 25 foot
length.

REVISIONS

Date Description By

State of Alaska
Department of Transportation
& Public Facilities

W31 SHORT
RADIUS GUARDRAIL

s\“““

& of
P
Fa 198 X,

(A P e oy

'-. Lars R. Gregovich :

2%, Y S

RS
Eff. Date: WA o
12/22/17 s S

1 of 3

G—-26.00 Sht.



an CRT Post amn 0,
/_ (Sheet | of 3) Cable Anchor Plate ]
>< IFPAOI) :% lanl
1=
] A f 1
Il
I
T . T F dati KI IH
oundation
Standard Beam Guardrail 4f tube
PLAN H H
D
. | \ ¥
6'-3 7 [

31"

3/4" galv. wire rope
swaged both ends
(FCAOI)

|~+— CRT Post

CRT Sleeve

- — ——— BCT post
“ \\i|I|\|||\||un||um||-|_muq‘ - © é
 \le o o &
(2) Galv. 16d nails to "
prevent rotation |8 3\,0’:;1;

Bearing Plate
I nut 8 washer

4" max.

'_{_<_2 172" ¢ hole in post

Finished Grade

ELEVATION

IN-LINE ANCHOR

10" @ std. galv. steel
pipe I'-I" in length

- W-Beam End Section
[(RWEO5a)

a

CRT Anchor Post,
I (Sheet 3 of 3)
M with side cable
attachment

174

Attach W-Beam to steel pipe
with 5/8" @ x I-1/4" button
head bolt with no washer.
Do not connect to post.

m

3" x 9 qalv. wire rope -
swaged one end only.
(FCAO2 with only

one swaged end)

Tube Steel Sleeve

24 x 24 x & x 8
Tack Weld
2 1/72" x 2 172" x /4"

steel plate with I-1/16" &
hole to tubular steel

" ¢ x 1-3/8" stud
Threaded full length

SIDE CABLE ATTACHMENT

(RWEO2b)

3/4" wire rope

one swaged end. 3/4" wire rope

swaged both ends

See Rotating Post
Cap Detail

.‘---
'H'
AY

N"_¢ x I-3/8" Stud threaded full length.

Shall not protrude beyond face of rail. 20 3/4"

PLAN

6 3"

12"

3/4" hole for 5/8"¢

SHEET

G-26.00 |..;

CONSTRUCTION NOTES

. See Standard Drawings G-OO and G-05 for details
not shown here.

2. All covered hardware must comply with the
AASHTO/AGC/ARTBA "A Guide to Standardized
Highway Barrier Hardware”, latest edition.
Designators are given in parenthesis, when possible.

W-Beam End Section
(RWEOS5a)

| ———

ROTATING POST CAP

Foundation tube

— Bolt, Nut & Washer SIONS
[<] REVI
e e e Date Description By
5 . (
-] L] -] ] ~ ~ 3|u + Iu
[=] S
174 ..
6 ea. 3/4" Cable Clips. /\\\/43". 7 | nuzt |/82 w:s:elr State of Alaska
. " ole
Torque nuts to 50 ft./Ibs. (FCC20) n post Department of Transportation
— 7 See side cable attachment detail _L_ & Public Facilities
@: I G G G G G G G N G SN G NN G G G G G SN G G G G S SN G G G G G G SN G G5 GN SN GuN GNN GEN 5N SN GEN SN SN GN N G 6N 4 4 Mux. W3 1 SHORT
} ! RADIUS GUARDRAIL
Finished Grade | SR
= \\
! ! CRT Anchor Post | ! g@,.‘%f.déé&.
2 ELEVATION (Sheet 3 of 3] | for e
| Bearing Plate *: 490 w*,
[ [ CRT Sleeve ) | N ....................’

TERMINAL ANCHOR

L,

a scessccsccssccccbeccce

&
. . ()
"/p-_ Lars R. Gregovich 8 ’;”;/

N, CER0ES Ll
00000000t Y

Eff. Date: “\?{(ﬁwsssmﬂk\f} &

12/22/17 s Q

2 of 3

G—26.00 Sht.



G-26.00 |.. .

i 174" Steel Plate

3/4" ¢ holes 3/4" x 2 3/4" GENERAL NOTES:
o" Slotted Hole
. Hardware details not shown here shall
d |5 |/2--| 7 172" conform to drawings G-O5W and G-00.

1" 2. Comply with the AASHTO/AGC/ARTBA
18" * I “A Guide to Standardized Highway Barrier

" Hardware”, latest edition, for all covered
guardrail hardware.

— — e
3. Not all bolt and nuts are shown for
9 6" clarity purposes.
24" 21 3 s I
23"
FOUNDATION TUBE SOIL PLATE Beari
2 172" & hole A - Pruafgng
. 2 ea. galv. Ied /!
(PLSO3) 45 172 anti-rotation nails — |
6" " 8" I A
| | ‘I | I i i PRS- EE —L
2" ! —%'— — i — 8 ‘ —— ] y [E) 4 Mox
S | S | A NG N
:3 : 3/4" ¢ hole : : 7/8" ¢ hole - 17 Finished grade
17" 5/8"x10" I nut &
| | | | hex head washer
| | | | bolt w/nut ~
8 (2)washers
| | l_ e ||
:I |; ;; J —L 4 fpr—===H
| | | FRONT SIDE | |
| | | | I | | (2)5/8"0 x 8" hex
| | | | | head bolts w/nuts
: : 3/4" ¢ holes : : Soil Plate —/': :
I I I I 60" WOOD POST I I
| | | | | |
| | | | | |<— Steel Tube
| | —TS 8x6x0.1875— | | | |
| | | | | |
| | | | | | REVISIONS
| | | | | | Date Description By
| | | | | |
| | | | | |
| | | | | |
| | | | | |
State of Alaska
| | | | | | Department of Transportation
| | | | | | & Public Facilities
L | | | | | W31 SHORT
RADIUS GUARDRAIL
AN\
FRONT SIDE SOLANY,
— — AT
ASSEMBLY ﬁ.-"tgm*'-g_f%
FOUNDATION TUBE anRiaas S
4 ", Lars R. Gregovich _-‘%’ v
(PTEO5) .;*%;;_- CE-8065 -:g\;\%b o
. Poreeenet® NG
ey WS

3 of 3

G—26.00 Sht.




2’ min. to fill

or cut slopes

6"x8"x14” wood blockout only,
no substitution.

\

n::::> 5/8" button head bolt with 7/32”
> oval grip, cut washer, and hex
hut.
31" £ 17
O T
O
6 0
CRT post
SECTION A—A

Typical for all CRT post
locations shown in the plan view

G-2g.00 1SHoEfEr1

CONSTRUCTION NOTES

See Standard Drawings G—00 and G—05 for
additional guardrail and guardrail hardware details.
See G—26 Sheet 1 of 3 for CRT post details.

Provide 1’ minimum lateral clearance between
posts and underground obstruction.

Nesting of rail elements in the long span area is
not allowed.

DESIGN NOTES

Total installed length of guardrail and end anchorage
(including end terminals, downstream anchors, etc.)
shall not be less than 62.5" measured from the
outermost CRT post on both the upstream and
downstream ends.

No fixed objects allowed within 9'—0" from the back
of posts where post are omitted. This is the
crash—tested lateral deflection of the long span
section.

. Do no install curb in the long span area — this

includes the area of CRT posts.

See Design Note 2.

25'—0" maximum span
Maximum of 3 omitted posts

V!

Stqngord Dw3>_1 gL;\lorter;I. | 6'—3" | Standard W31 guardrail.
ee Design Note 1. Underground (Typ.) See Design Note 1.
. A Obstruction | |
I:I I:I % E %—-T—— _—T—_% % % I:I I:I REVISIONS
_ . | __ __ | ] Date Description By
|
* Lo A * \/\ * * *
*
Sheet 1 of 1

Direction

of Traffic

*—Designates CRT
post location

See Construction

Note 2.

LONG SPAN GUARDRAIL PLAN

Rail splice, typ.

State of Alaska
Department of Transportation
& Public Facilities

LONG SPAN
W31 GUARDRAIL

. Mathew 14 Walker o B
<, 5 Ly
%}..CE 12505..;3@\\%:

D ARORESSION,

Eff. Date:
12/22/17

G—-29.00



	g0004p1
	g0004p2
	g0004p3
	g0004p4
	g0004p5
	g0412s
	g0412w
	g0500s
	g0500w
	g1010
	g1100
	g1400p1
	g1400p2
	g2600p1
	g2600p2
	g2600p3
	g2900

